Motes 2.4 & 2.5: Solving Multi-step Inequalities
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A "Normal” 2 step equation:

1) et rid of number away from
variable by doing the opposite
(addition or subtraction)

2) Multiply or Divide by the
ENTIRE number in front of the
variable,

*If inequality DOESN'T look normal:
Check for:
1)Distributing
2) Combining like terms on the
SAME side of the equation
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ex) 4x+1 > 2(2x - 3) ex) —2(8-3x)=6x+2
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*SET UP & SOLVE:
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ex) To rent a vehicle, Rent-a-Ride charges $55 per day with unlimited miles. For a similar

vehicle, We-got-Wheels cha $38 per day plus $.20 a mile. For what number of miles is the
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ex) The Cypress Circuit charges a fee of $650 plus $80 per week to run anad. The Bay Baddie
charges $145 per week to run the same ad. For how many weeks will the total cost at The
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